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10. y = 4sin (gx) +1
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11. y = 3cos (gx) +0
12. 4sin (3x)
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12. 2sec (?x) +1
13. 2tan(x) — 2
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14. 2tan (Ex)
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. f(x) = —4tan (%x) -1
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1. 10.24695076596, 37.979872444852, 52.020127555148
2. 7.2801098892805, 74.054604099077, 15.945395900923
3. 1.819851171331, 5.3208888623796, 20

4. 12155372436685, 6.8936542710855, 80

5. 3.1058285412302

6. 12.557035741758

7. 60, 44

8. sin(62°) = & sin(54°) =7 & x = 51.797542161485
9. 421.85321760261

10. 359.15772250744

11. 218

12. 1(V3-+2)

13. 17,993,000

14. 61.6835

15. 4241

[EEN
o
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tan(t)
cot(t)
sec(t)
csc(t)
cot?(t)
3, -0.1, 0.7, -35
—csc(x)
-1
1
. sin(x)
.4, 2

(cos(x))2

. csc(t)

. sec(u)csc(u)

(2sin(x) — 1)(sin(x) — 1)
(2sin(x) + 1)(sin(x) — 1)
V221

7ls?n (t), 7cos(t)
2tan(t), 2sec(t)
5sec(t), 5tan(t)
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. —,—,m, kanyinteger

. m+2kn or —m+ 2km,

2km, anyinteger

m 5t 3w

6’6’2

arctan(2), ™ + arctan(2)
REMOVED

4t 5m 10w 11m 16m 17w

0,60,120,180,240,300
105,165,285,345

344532006989, 2.7081473335199
556032943542, 5.0275820128254

km or 37”+k7t, any integer

any integer
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